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BEA FABEEMHK - REXMEFELERZESN LA EXEEEEFTELAEERSETE
5 Fr Be] AR T G H 1A HA&E A H $F3FE128228
F RE i1 2,955,700 | H%)22H9%EE 2,955,700M
110%%1%?@?&#& 2,687,000H 1%2‘3?%(%%)% 2,687,000M]
N x &7 & (1105?0?%@)%&%) (115&%}%&%@%) (1%;\1051&%01)%*%%) (11%?‘%)%%%%%2%)
1 |ARs#I/O09+ 2,687,000
2 |BRXEHRLNYYIE 2,710,000
3 |ARs#EERK 2,730,000
4 |HRSHERER 2,750,000
4 B AITVY 2,750,000
6 |HRXSHXiBRE 2,760,000
7 |ARSHXRIPIE 2,800,000
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S 2 [HBEE MARMEFSEZEKEERLIS
5 Fr B A 4R T B HA&E A H $F3FE128228

FEME 898,700M| H#)2HNEE 897,600M
110%%1%?@?&#& 817,000/ 1%2‘3?%(%%)% 816,001
AL x & % (1105?0?%@)%&%) (115&%}%&%@%) (1%;\1051&%01)%*%%) (11%?‘%)%%%%%2%)

1 (%A RILNYYTE 816,000

2 |ARS#XHIE 830,000/

2 AU AITYY 840,000

4 |ARz=#/AHF 850,000/

5 |MAHKBEE 855,000/

6 |HREUHEEER 870,000
R (HRSHEEER R
R (HRSHERE IR
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X4 SHBEE BERHIFEBRESEE 28RN 2 AERFTEBERR
& B BaT A 4R Th S #AET B+l & A B SFI3E12H22H
¥ E 4% 3,467,200 | L#I2K9%E 2,750,000
L ERfEE D RHFLLEED
1105 0 1000 4 3,152,000 | 4 7525 1 1000d it 2,500,000F
Bz x = % AFL{H#E B A LM B R AFLmE RiEzE(REZ2)
AL (1105 D 100D {fi4E) | (11053 D 100D1fi#E) [ (1105 D 100D {H4E) | (1105 D 100D ffiFk)
1 | REEH 2,500,000
2 |HREHEBBEGI YL YR ARIE 2,520,000
3 |BRESHFARTS=2T 3,000,000
3 |HHEEIS3arHIILEvE 3,000,000
5 |MeutastaryLs MAARRE 3,170,000
6 |[AREIUYLELYBREHFMARELR 3,352,000M




